RTZ31 0000000000

gogn RTZ-31 00O 0Oodooogn
godn goooboobboodd
HEN 168.00/01
goon go:0o
0 0:RTZ-31
go:0o
goon goobobbodggdgzz0crb b 1-30
ERERERN 0371-69329008 13603714698
ot

riz-310 210/010 000000000

oooolomobboobuoobobooboob0 bbooboobboobUoobo,obbooboobooor
guoduoobbuooouoo-gggoouoobbuooon

10000

20000

WO OoOog

ADD 0000000000000 DO00000 100000 0O p1=0.0100.45mpa20 0 00O O O p2=10 30kpa
WMO0OO0D00Od <£+10%40 0000 0O pbs 1.25p2

rtz-11/cC0 O 0O 0O O O pl< Skpa O O O O O p2=1-3kpa(] )

riz-310210/010 000000000

000010000000 0000000000D0DO000DO0000DO00DOO0o0o,00oOooDbOoOoooaart
OO0000o0O0o0oDbOo0ooOo-0b0o00ooooooooog

100od

20000

WO OoOog



ADD00DD0O0000D0DO00D0DO00000 10000D0 0O p1=0.0100.45mpa20 0 00O O O p2=10 30kpa
WO0O0000% £+ 10%40 0000 0O pbs 1.25p2

rtiz-11/cC0 O 0 0O 0O O pl< Skpa O O O O O p2=1-3kpa(] )

riz-310210/010 000000000

000010000000 000DO0000000DO0DO00DOO00DO0DO0O0DOO00O,00O0OooDbOoOoooaart
OO0000000DOOo0ooOo-0b000o0oooooooog

100od

20000

WO Ooog

ADD00DD0O0000D0DO00D0DO00000 1000000 p1=0.0100.45mpa20 0 00O O O p2=10 30kpa
WO0O0000% £+ 10%40 0000 0O pbs 1.25p2

rtiz-11/cC0 O 0 0O 0O O pl< Skpa O O O O O p2=1-3kpa(] [ )

rz-310210/010 000000000 0000 100000000 oboo0oooo oooooo
O0D000o0oOoooO, 00000000 b0o0bO000D0bO0o0obOo0o0ooDbOOo0obOoOooDoOOoOooDoa0-
OO00000O0oDooOOoOoooo1mood

20000

WO ood

ADODO0D0DOO0O00O00D0DOOoO0oOOOoOooDoOg

1000000 pl1=0.010 0.45mpa

20 0 0O 0O 0O 0 p2=10 30kpa

WOOOOOd <+ 10%

4000000 pbs 1.25p2

rtz-11/c0 O 0O 0O 0O 0O pl< Skpa 0 0O O O O p2=1-3kpa(] 0 )


http://www.tcpdf.org

